
Cody has 7 heart-shaped stickers and 2 times as many star-shaped stickers. 

How many star-shaped stickers does Cody have?

Answer: Cody has star-shaped stickers.

Look for what’s given: 

Cody has heart-shaped stickers.

Write the equation and solve the problem.

She has times as many star-shaped stickers.
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Joan bought 3 jade plants and 9 times as many spider plants. How many 

spider plants did Joan buy?

Answer: Joan bought spider plants.

Look for what’s given: 

Joan bought jade plants.

Write the equation and solve the problem.

She bought times as many spider plants.

Patrick’s toy set had 5 Beyblade spinning tops, while Oscar’s set had 6 times as

many spinning tops. How many spinning tops did Oscar’s set contain?

Answer: Oscar’s set had Beyblade spinning tops.

Look for what’s given: 

Patrick’s toys set had Beyblade spinning tops.

Write the equation and solve the problem.

Oscar’s toys set had times as many spinning tops.
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